
Revised October 2021 

 
 

 
 

 

1 

Hampel, W194 N11551 McCormick Drive, Germantown, WI 53022  
Phone: 262-255-4540 Fax:262-255-9731 

 

CT-10015AF 

Chute Bottle Holder Fence Mount Kit 

Assembly Instructions for Installation 
 

 

 

 

 

 

Calf-Tel Chute Bottle Holder Bill of Material: 
 

Item Item Number Description Qty 
1 CT-10015 Chute Bottle Holder 1 

2 CT-10033 Chute Bottle Holder Fence Wire Support 1 

3  CT-HDWE-036 Hardware Required for Assembly 
5/16-18 x 1 Hex Flanged Cap Screw 

5/16-18 Nylon Lock Nut 

1 
1 
1 

 

 

  

 
 
 
 
 
 
 
 
 

 
 
 

 

 

 

Step 2: Assembly Chute to 

Fence: Hook the bottle holder 

fence support wire to the inside of 

the fence. 

 

 

Installation Instructions: 

Step 1: Secure Hardware to Chute Bottle 

Holder: Position curved wire support through 

sides of chute. Align bottom loop of wire 

support with hole in chute. Using hex flanged 

cap Screw and nylon lock nut, secure chut to 

wire support. 



Revised October 2021 

 
 

 
 

 

2 

Hampel, W194 N11551 McCormick Drive, Germantown, WI 53022  
Phone: 262-255-4540 Fax:262-255-9731 

 

CT-10015AH 

Hutch Mount Chute Bottle Holder 

Assembly Instructions for Installation 

Calf-Tel Chute Bottle Holder Bill of Material: 
 

Item Item Number Description Qty 
1 CT-10015 Chute Bottle Holder 1 

2 CH-3232 Face plate chute bottle holder 1 

3  CT-HDWE-009 Screw 5/16-18 x 1.0 Hex Cap 5 

4 CT-HDWE-015 Nut 5/16-18 Top Lock Hex 5 

 

  

 
 
 

 
 
 
 
 
 
 
 
 
 

 

 

 

 

 

 

Installation Instructions: 

Step 1: Attach bottle holder: Using the supplied hardware, attach the CT-10015 Chute Bottle Holder 

and CH-3228-1 Bottle Holder Face plate to the hutch. 



Revised October 2021 

 
 

 
 

 

3 

Hampel, W194 N11551 McCormick Drive, Germantown, WI 53022  
Phone: 262-255-4540 Fax:262-255-9731 

 

CT-10015AP 

Pen Mount Chute Bottle Holder 

Assembly Instructions for Installation 

Calf-Tel Chute Bottle Holder Bill of Material: 
 

Item Item Number Description Qty 
1 CT-10015 Chute Bottle Holder 1 

2 CT-HDWE-009 Screw washerless 5/16-18 x 1.0 hex cap 3 

3  CT-HDWE-015 Nut 5/16-18 washerless nylon lock nut 3 
 

 

Installation Instructions: 

Step 1: Attach bottle holder: Using the supplied hardware, attach the CT-10015 Chute Bottle Holder 

to the pen front. Note: Assemble bolts on the inside with the nut on the outside. This keeps the 

calf from being harmed by the bolt stud. 

Bottle w/Nipple 


